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13x-12y =8
Find and use an inverse matrix to solve the system _ - . SCORE: /S PTS
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Graph, and find the vertices of the solution set of x — y > =1 . X=/pT = — | \ =T SCORE: __ /12 PTS

3x-y<5 - 5 e

Show proper algebra work for full credit. NO CREDIT FOR GUESS & CHECK.

S S— f T
) o' {
. D 2
2 oy N T
_'\l = ? 1-- “ s
- T 5 -4 -3 Yo g i 27 3 4 5 6
{I - — ¢ L { (\ -=|_T3 2 -1
— - Nt - -2
/ B ‘!:'/-?" i _3;-
) J '\‘j /’ 44
p. LA ‘ | _/ =
I -
._‘\ Lk = )F 2 - =3 S
“ Y 2 ) = O e J XS
y J"A"O \1;.1“--- ::; _
'.. P \) "[ ¥ ) = ) W I,f /: - \.‘I
- sy : -
W = |I \/ - ___{,::,_ I L:/,l\q ,:M’})\ ¥ _}.‘
Cl,2) ("2;‘]> % |
s ‘ )
\ ; ~
k “— 1\ g / & < \ ) ”’#\/\
= =



